Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

PROGRAMME : Bachelor of Science (Information Technology)

EXAMINATION : March - 2023

Sr. No.	Roll No.	Seat No.	Name	g Principles				ar	and Applications		and applications		ls of Database				· ·		h Computation al Logic and Discrete		nnical nunicat Skills	Comn	nnical nunicat Skills	Total Marks		Credits Earned	SGPA	Gr- ade
				IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75		SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75		SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50					
1	0	EX-11001	ANSARI MOHD SHAHID SUDRUDDIN QAMAR JAHAN	\$10	12	0.0	40	\$14	\$30	0,0	\$32	11	30	0,0	31	\$20	\$39	0,0	\$29	12	30	0,0	\$21	361	112	18		F
2	0	EX-11002	/ BARI MANSI BHARAT JAGRUTI	\$15	\$30		\$20	\$19	\$30		\$31	\$18	\$30		\$20	\$22	\$49		\$28	\$19	30		\$21	382	112	20	5.60	С
3	0	EX-11003	CHAUDHARY NIYAZ ABDULAZIZ RAHIMUNNISHA	02	12		38	\$10	30		AB	\$17	14		14	\$10	0		AB	\$16	15		5	183	26	4		F
4	0	EX-11004	CHOUGULE ANIKET ВАВАЛ KAVITA	17	30		28	\$10	31		\$32	\$14	30		\$25	\$10	30		\$20	\$16	12		\$32	337	100	18		F
5	0	EX-11005	DHODIYA BHAGYESH DINESH MANISHA	\$11	30		\$23	\$15	30		\$39	\$18	6		\$35	\$12	30		\$20	\$18	30		\$37	354	108	18		F
6	0	EX-11006	GAUTAM ABHISHEK KUMAR BAGESH PANDEI	\$15	\$30		36	\$15	\$30		\$30	\$18	\$30		\$26	\$10	38		30	\$17	30		\$21	376	120	20	6.00	В
7	0	EX-11007	/ GIMBHAL PRIYANKA SUNIL REKHA	\$20	\$30		\$32	\$20	\$33		\$27	\$20	\$30		\$21	\$20	\$50		\$28	\$19	30		\$21	401	122	20	6.10	В
8	0	EX-11008	KADAM ASHISH ASHOK VANDANA	\$17	\$44		\$42	\$18	\$32		\$33	\$20	\$49		\$37	\$20	\$42		\$46	\$20	36		\$33	489	164	20	8.20	Α
9	0	EX-11009	KADU JIGNESH NARAYAN BHARATI	\$13	\$30		20	\$11	17		\$20	11	3		8	\$16	15		\$20	10	5		5	204	32	8		F
10	0	EX-11010	KAWLE ANIKET KAILAS JYOTI	\$16	30		\$20	\$14	\$30		\$26	\$16	0		\$30	\$12	\$30		\$20	\$17	6		\$23	290	80	16		F
11	0	EX-11011	KINI SUKESH BALKRUSHANA DARSHANA	\$13	34		31	\$12	33		\$22	\$17	7		\$20	\$10	30		\$20	\$15	30		\$20	314	86	18		F
12	0	EX-11012	/ KOLE SHITAL VISHNU VISHRANTA	\$14	15		20	\$10	14		\$23	\$16	30		\$20	\$14	\$30		\$20	\$12	30		\$25	293	72	16		F
13	0	EX-11013	/ KOM AMISHA PRAKASH LALITA	15	30		24	15	8		32	14	3		26	\$11	30		20	14	3		20	265	72	14		F
14	0	EX-11014	MACHHI AARYAM ANIL SHAILA	\$16	31		10	\$10	31		\$26	15	17		\$22	\$13	30		\$20	\$20	30		\$34	325	82	16		F
15	0	EX-11015	/ MADAVE PRACHITA SUBHASH PUSHPA	\$16	\$30		20	\$12	\$41		\$24	\$17	\$30		22	\$11	\$33		\$20	\$16	10		\$23	325	84	18		F

Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

PROGRAMME : Bachelor of Science (Information Technology)

EXAMINATION : March - 2023

Sr. No.	Roll No.	Seat No.	Name	g Principles				and Applications		and applications		ls of Database		ls of Database				h Computation al Logic and Discrete		1		Comm	nnical nunicat Skills	Total Marks		Credits Earned	SGPA	Gr- ade
					SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75		SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50					
16	0	EX-11016	MAURYA RITESH KUMAR RAJENDRA PRASAD MIRAN DEVI	\$17	\$31		33	\$14	\$60		\$22	\$10	\$32		\$20	\$20	\$41		\$29	\$10	\$30		\$23	392	116	20	5.80	С
17	0	EX-11017	/ MAURYA VANDANA SUBAS GEETA	\$15	\$40		\$20	\$13	\$40		22	\$19	\$30		20	\$14	\$30		\$29	\$12	\$30		32	366	106	20	5.30	С
18	0	EX-11018	MAZGAONKAR AHMED KABIR MUNTAZIR KUBRA	15	\$30		\$22	\$12	\$42		\$30	10	\$31		31	\$22	\$43		\$28	15	11		\$20	362	108	18		F
19	0	EX-11019	MHASKE ONKAR MUKTAJI CHHAYA	\$16	41		\$27	\$18	\$37		\$40	\$19	\$30		\$38	\$22	\$50		\$27	\$18	30		\$23	436	138	20	6.90	В
20	0	EX-11020	MHATRE HARSH RAVIKANT RESHMA	\$14	\$31		\$20	\$19	\$52		\$35	\$19	\$31		\$39	\$22	\$47		\$36	\$18	30		\$27	440	140	20	7.00	B+
21	0	EX-11021	MHATRE VEDANT UMESH SAMIDHA	\$14	\$30		\$20	\$11	\$45		\$27	\$17	\$30		\$22	\$20	\$44		\$31	\$17	30		\$29	387	116	20	5.80	С
22	0	EX-11022	/ PAGDHARE KALPANA MUKESH RESHMA	04	8		\$20	\$10	\$30		AB	06	\$30		AB	\$10	AB		\$20	06	5		\$25	174	36	8		F
23	0	EX-11023	PATEL BRIJESH MAHENDRA HEMLATA DEVI	\$16	\$57		\$31	\$14	\$58		\$21	15	\$49		\$23	\$11	\$52		\$32	12	\$32		23	446	136	20	6.80	В
24	0	EX-11024	PATIL DRIJESH CHANDRAKANT PUSHPA	\$15	9		28	\$11	13		\$20	05	2		26	\$10	13		\$20	\$10	5		\$20	207	50	10		F
25	0	EX-11025	PAWAR DEVESH MOTHABHAU LEENA	\$10	30		23	10	32		\$20	\$11	9		8	\$11	18		25	\$12	11		11	241	46	10		F
26	0	EX-11026	PAWAR SHUBHAM YOGESH KALPANA	\$14	11		36	\$11	30		30	\$21	13		20	\$19	7		\$20	\$20	5		\$20	277	66	12		F
27	0	EX-11027	/ RAKHUNDE VAISHNAVI SANTOSH JAYA	\$13	30		1	\$13	\$34		\$22	06	\$33		11	\$13	\$30		\$20	\$12	4		\$20	262	50	12		F
28	0	EX-11028	RANA SUMRIT RUPESH POONAM	15	\$36		\$20	\$11	30		\$21	10	\$30		28	\$11	\$37		\$29	13	30		\$27	348	102	20	5.10	С

Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

PROGRAMME : Bachelor of Science (Information Technology)

EXAMINATION : March - 2023

Sr. No.	Roll No.	Seat No.	Name			es g Principles with C Prac		oles and ract Application		ic Digital Logic and ns applications		ls of Database		ls of Database		· ·		Computation al Logic and Discrete				Comn	nnical nunicat Skills	Total Marks		Credits Earned	SGPA	Gr- ade
				IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50		SEE 30/75	IA 0/0	SEE 20/50	•				
29	0	EX-11029	RANA VIJAY VIKRAM JEEVANTA	\$12	\$37	0,0	\$24	\$16	\$41	0/0	\$41	\$20	\$34	0/0	\$30	\$19	\$41	0,0	\$20	\$20	30	0,0	\$20	405	126	20	6.30	В
30	0	EX-11030	RAUT RUGVED DATTATREYA DISHA	\$15	\$41		\$20	\$15	30		\$21	\$19	\$31		\$23	\$14	\$35		\$20	\$19	\$30		\$27	360	102	20	5.10	С
31	0	EX-11031	/ ROHIDAS HARSHA TULSHIRAM RAJKUMARI	\$12	\$35		\$26	\$12	50		\$23	\$18	\$30		20	\$20	\$34		\$20	\$18	30		\$26	374	108	20	5.40	С
32	0	EX-11032	SAHANI NIRAJ MANGAL ANITADEVI	\$13	\$32		32	\$13	\$30		\$28	\$10	38		32	\$10	\$31		\$20	14	\$30		\$24	357	108	20	5.40	С
33	0	EX-11033	/ SHAIKH MAHEK NAAZ ALAMGIR BILKIS	\$16	\$38		\$29	\$15	\$58		\$29	\$16	\$33		\$20	\$22	\$56		\$20	\$12	30		\$20	414	118	20	5.90	С
34	0	EX-11034	/ SHAIKH SHREYA SACHIN MANISHA	04	4		10	\$10	30		\$22	\$14	6		29	\$18	\$30		\$20	\$13	11		\$22	243	56	12		F
35	0	EX-11035	SHARMA VIKAS JITENDRA SUMAN	17	\$39		\$20	\$12	\$30		\$21	\$16	\$34		\$22	15	\$51		\$20	\$10	12		\$20	339	90	18		F
36	0	EX-11036	SHARMA VIKASKUMAR MANILAL RESHAMDEVI	\$22	\$69		\$49	\$19	50		\$46	\$22	\$46		\$28	\$20	\$61		\$45	\$20	30		\$33	560	174	20	8.70	A
37	0	EX-11037	/ SINGH PRIYA SURENDRA PRATAP REEMA DEVI	\$13	33		\$20	\$16	\$43		\$24	\$15	\$30		\$22	\$18	\$47		\$30	\$18	30		\$26	385	114	20	5.70	С
38	0	EX-11038	/ TIWARI MANSI OMKARNATH KUMUD	17	\$30		\$20	\$18	\$30		\$34	\$21	\$39		\$23	\$19	\$57		\$20	\$20	\$31		\$24	403	118	20	5.90	С
39	0	EX-11039	TURIYA SAIF HAMID RIZWANA	15	\$30		\$20	\$12	16		\$22	\$16	\$30		37	\$10	\$30		\$20	\$15	30		\$23	326	90	18		F
40	0	EX-11040	VARE MAYUR GORAKH VANDANA	\$11	\$30		\$24	\$18	\$30		\$21	\$19	\$31		\$25	\$18	\$30		\$20	\$18	30		\$25	350	100	20	5.00	С
41	0	EX-11041	VERMA RAHUL SHYAMSUNDER CHHAYA	\$11	17		\$30	\$13	30		\$25	\$19	8		\$20	\$18	30		\$20	\$18	5		\$21	285	70	14		F
42	0	EX-11042	YADAV ANIL SHIVNATH RAJMATHI	\$16	53		\$40	\$16	\$30		\$26	\$16	\$30		\$31	\$15	\$32		\$31	\$15	\$30		\$27	408	132	20	6.60	В
43	0	EX-11043	YADAV SUJIT KUMAR VINOD SINGH SHEELA DEVI	\$18	65		\$32	\$20	\$44		\$41	\$20	47		\$31	\$18	\$56		\$20	\$19	\$30		\$39	500	158	20	7.90	B+

Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

PROGRAMME : Bachelor of Science (Information Technology)

EXAMINATION : March - 2023

Roll	Seat No.			Programmin Program				Logic	Digita	l Logic	Funda	menta	Funda									nnical	Total	Sum	Credits	SGPA	Gr-
No.			g Principles		g Principles		and		and		ls	ls of		ls of		al Logic and		al Logic and		nunicat	Communicat		Marks	CG	Earned		ade
			wit	with C		with C Pract		Applications		applications		Database			Discrete				ion Skills								
			IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE					
			10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50					1
0	EX-11044	YEWALE JAYESH VIJAY JAYASHREE	\$10	30		10	\$11	\$30		\$34	\$12	\$30		\$27	\$10	\$34		\$20	\$12	5		\$20	295	76	16		F
	Roll No.	No. Sear No. 0 EX-11044	No.	No. Seat No. Iname g Prin 0 EX-11044 YEWALE JAYESH VIJAY \$10	No.Sear No.Nameg Principles with CImage: Constraint of the search of the sear	No.Seat No.No.g Principles with Cg Principles with Cg Principles with CIASEEIA10/2530/750/00EX-11044YEWALE JAYESH VIJAY\$1030	No. g Principles with C g Principles with C g Principles with C Pract IA SEE IA SEE 10/25 30/75 0/0 20/50 0 EX-11044 YEWALE JAYESH VIJAY \$10 30 10	No. Generative g Principles with C g Principles with C Pract Applic IA SEE IA SEE IA IA IO EX-11044 YEWALE JAYESH VIJAY \$10 30 10 \$11	No. g Principles with C g Principles with C g Principles with C and Applications IA SEE IA SEE IA SEE IA SEE 0 EX-11044 YEWALE JAYESH VIJAY \$10 30 10 \$11 \$30	No. g Principles with C g Principles with C Pract and Applications applications 0 EX-11044 YEWALE JAYESH VIJAY \$10 30 10 \$11 \$30	No. Generative INAILIE g Principles with C g Principles with C g Principles with C Pract and Applications and applications 0 EX-11044 YEWALE JAYESH VIJAY \$10 30 10 \$11 \$30 \$34	No. Generative g Principles with C g Principles	No. Generative g Principles with C g Principles with C Pract and Applications and Bis of Database 10 EX-11044 YEWALE JAYESH VIJAY \$10 30 10 \$11 \$30 \$34 \$12 \$30	No. $g \operatorname{Principles}_{with} C$ $g \operatorname{Principles}_{with} C$ $g \operatorname{Principles}_{with} C$ $a \operatorname{nd}_{Applications}$ $a \operatorname{nd}_{Applications}$ $ls \operatorname{of}_{Database}$ $Database$ $Database$ IASEEIASEEIASEEIASEEIASEEIASEEIAI0/2530/750/020/5010/2530/750/020/5010/2530/750/020/50IEX-11044YEWALE JAYESH VIJAY\$103010\$11\$30\$34\$12\$30	No. Generative g Principles with C g Principles with C g Principles with C and Applications and applications Is of Database Is of Database 0 EX-11044 YEWALE JAYESH VIJAY \$10 30 10 \$11 \$30 \$34 \$12 \$30 \$27	No.Sear No.Generationg Principles with Cg Principles with Cand with Cand applicationsIs of DatabaseIs of 	No. Sear No. No. Is of with C Is of Database Is of	No.Sear No.No.Is of PrinciplesIs of PrinciplesIs of DatabaseIs of Dat	No.Sear No.Is of DatabaseIs	No. $g Principles$ with $C Practg PrinciplesApplicationsg Principlesandg Principlesapplicationsandapplicationsls ofDatabasels ofDatabasels ofDatabaseal Logic andDiscreteal Logic and$	No.Generativeg Principles with Cand with Cand applicationsand applicationsIs of DatabaseIs of Databaseal Logic and Discreteal Logic and DiscreteCommunicat ion SkillsNo.IASEEIA <th>No.Generativeg Principlesg PrinciplesandandIs ofIs ofDatabaseIs ofDatabaseDiscreteon standCommunicat<t< th=""><th>No.Gen No.Gen No.G</th><th>No. No. $\begin{array}{ c c c c c c c c c c c c c c c c c c c$</th><th>No. $\left[\begin{array}{c} g \ Principles \\ with \ C \end{array} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{array} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{array} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \$</th><th>No. $\begin{array}{ c c c c c c c c c c c c c c c c c c c$</th><th>No. Generative g Principles with C g Principles with C g Principles with C and applications and blackse ls of Database ls of</th></t<></th>	No.Generativeg Principlesg PrinciplesandandIs ofIs ofDatabaseIs ofDatabaseDiscreteon standCommunicat <t< th=""><th>No.Gen No.Gen No.G</th><th>No. No. $\begin{array}{ c c c c c c c c c c c c c c c c c c c$</th><th>No. $\left[\begin{array}{c} g \ Principles \\ with \ C \end{array} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{array} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{array} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \$</th><th>No. $\begin{array}{ c c c c c c c c c c c c c c c c c c c$</th><th>No. Generative g Principles with C g Principles with C g Principles with C and applications and blackse ls of Database ls of</th></t<>	No.Gen No.G	No. No. $\begin{array}{ c c c c c c c c c c c c c c c c c c c$	No. $\left[\begin{array}{c} g \ Principles \\ with \ C \end{array} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{array} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{array} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ Principles \\ with \ C \end{matrix} \right] \left[\begin{array}{c} g \ $	No. $\begin{array}{ c c c c c c c c c c c c c c c c c c c$	No. Generative g Principles with C g Principles with C g Principles with C and applications and blackse ls of Database ls of

Prepared by

Checked by





Lump Principa! P. L. Shroff College Chinchani, Tal. Dahanu, Dist. Palghar, Pin-401 503.